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Time : 3Hrs. Sem - IV/Arch 

Build. Const.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4marks.

Answer all five questions from Group C, each question 

carries6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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9.

10.

6

6

Describe the construction method of marble floor 
in a building.

(a) Ashlar stone masonry 
(b) Lintel in brick
(c) Squint junction

Explain about tiled flooring.

Corbel, Cornice, Coping, Throating, Weathering, 
Natural bed, Hearting , Jamb
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

7.

8.

OR

6

The vertical sides of the openings left in the 

wall to receive doors, window etc, is known 

as -

(a) Jamb

(b) Reveal

(c) Sill

(d) Quoin

(a) Ground moisture

(b) Rain water

(c) Defective construction

(d) All of these

                 GROUP  - C
                 GROUP  - A

5x6 = 30

Answer all Five Questions.

Describe different types of window provided in 

a building.

 of        bricks thick brick work in english and 

flemish bond.

1 1
2
¾

1 1
2
¾

6
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(iii)

(iii)

(iv)

(ii)
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5.
4

4

6

thickness is 

(a) English bond

(b) Flemish bond

(c) Stretching bond

(d) Heading bond

masonary should not be less than.

(a) 100 mm

(b) 200 mm

(c) 350 mm

(d) 450 mm

Distinguish between english bond and flemish bond .

provided.

various types of arches.
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3.

(iv)

(v)

(v)

(vi)

4.

P.T.O

OR

OR

serve both purposes of opening and closing.
the most suitable type of door for this 
purpose is .
(a) Sliding door
(b) Swinging door
(c) Revolving door
(d) None of these

(a) Folding
(b) Collapsible
(c) Fixed
(d) Any one of these

What is the difference between a bearing and a non

bearing partition ? Name the various types of 

partition wall.

masonry with neat sketches.

different from a window ?

4

4
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(vii)

(vii)

(viii)

(vi)(xx)

(xx)

Answer all Five Questions.
5x4=20

2.

4

aggregate of marble chips mixed with 
white and coloured cement is called -
(a) Granolithic flooring
(b) Terrazzo flooring
(c) Mosaic flooring
(d) Asphalt flooring

the ventilation system.
(a) Air movement
(b) Pressure
(c) Quality of air
(d) Temperature

A semi rigid material ideally suited to make 
damp proof course is. 
(a) Bitumen
(b) Metal sheet
(c) Mastic asphalt
(d) None of the above

Describe the difference between uncoursed rubble 

masonry and random rubble masonry.

P.T.O
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(xviii)

(xviii)

(xix)

(xix)

(viii)

(ix)

(ix)

(x)

The normal height of the door in residential 

buildings.

(a) 1.5 m

(b) 1.75 m

(c) 2.0 m

(d) 2.5 m

shops and godowns -

(a) Swing door

(b) Revolving door

(c) Rolling shutter door

(d) Flush door

employed to sub divide window or door 
opening vertically is called :
(a) Transom
(b) Mullion
(c) Horn
(d) Style

A portion of a brick used to close up the bend 
at the end of the brick courses, is called .........
(a) Stretcher
(b) Header
(c) Lap
(d) Closer

P.T.O
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corner such that at one end its width is half 

of that of a full brick is called

(a) King closer

(b) Queen closer

(c) Bevelled closer

(d) Mitred closer

Arches over opening are preferred to lintel 
beams when.
(a) Special architectural appearance is required
(b) Loads are heavy any span is large.
(c) Strong abutments are available
(d) All of the above

and the skew back is known as
(a) Haunch
(b) Spandril
(c) Rise
(d) Soffit

(xi)

(xvi)

(xi)

(xvii)

(xvii)

(x)(xvi)

P.T.O
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A load bearing partition wall is called 

(a) External wall

(b) Internal wall

(d) None of the above

post residential building is .

(a) Mosaic flooring

(b) Glass flooring

(c) Granolithic flooring

(d) Marble flooring

A junction at which two walls meet at an 
0

angle other than 90 is called .

(a) Oblique junction

(b) Squint junction

(c) Irregular junction

(d) Obtuse junction

windows are called :

(a) Jambs

(b) Reveals

(c) Buttresses

(d) Pilasters

(xiv)

(xv)

(xv)

(xiv) (xii)

(xii)

(xiii)

(xiii)
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OR

***

Draw neat and clean sketch of an arch, level it
and show its different components.

following conditions? Give reasons in support 
of your answer :
(a) Assembly hall
(b) Dancing hall
(c) Public lavoratory
(d) Residential building

and clean sketch of any one.

OR

11.

               

OR

***

Draw neat and clean sketch of an arch, level it and 
show its different components.

following conditions? Give reasons in support 
of your answer :
(a) Assembly hall
(b) Dancing hall
(c) Public lavoratory
(d) Residential building

and clean sketch of any one.

OR

11.6 6
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